

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	1 " DUAL CHECK	100330	890-03	Back Flow Preventers for Water/Sewer Pipe	1,200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			1,200.0000	20.35000	24,420.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			1,200.0000	21.52000	25,824.00	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			1,200.0000	21.04000	25,248.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			1,200.0000	21.05000	25,260.00	
1982	1	Hughes Supply	Chris Hilimire	6490			1,200.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			1,200.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	1" DOUBLE CHECK	103732	890-03	Back Flow Preventers for Water/Sewer Pipe	40.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			40.0000	90.10000	3,604.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			40.0000	79.03000	3,161.20	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			40.0000	83.40000	3,336.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			40.0000	77.32000	3,092.80	
1982	1	Hughes Supply	Chris Hilimire	6490			40.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			40.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	1" REDUCED PRESSURE ZONE	103734	890-03	Back Flow Preventers for Water/Sewer Pipe	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			25.0000	173.00000	4,325.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			25.0000	155.16000	3,879.00	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			25.0000	159.40000	3,985.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			25.0000	151.81000	3,795.25	
1982	1	Hughes Supply	Chris Hilimire	6490			25.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			25.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	1 1/2" DOUBLE CHECK	103735	890-03	Back Flow Preventers for Water/Sewer Pipe	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			10.0000	202.10000	2,021.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			10.0000	203.79000	2,037.90	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			10.0000	212.60000	2,126.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			10.0000	202.48000	2,024.80	
1982	1	Hughes Supply	Chris Hilimire	6490			10.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			10.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	1 1/2" REDUCED PRESSURE ZONE	103736	890-03	Back Flow Preventers for Water/Sewer Pipe	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			10.0000	312.50000	3,125.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			10.0000	291.79000	2,917.90	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			10.0000	302.60000	3,026.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1462	1	Ferguson Waterworks	Josh Davis	2588			10.0000	285.48000	2,854.80	
1982	1	Hughes Supply	Chris Hilimire	6490			10.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			10.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	2" DOUBLE CHECK VALVE	103737	890-03	Back Flow Preventers for Water/Sewer Pipe	50.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			50.0000	271.95000	13,597.50	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			50.0000	224.64000	11,232.00	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			50.0000	234.25000	11,712.50	
1462	1	Ferguson Waterworks	Josh Davis	2588			50.0000	219.78000	10,989.00	
1982	1	Hughes Supply	Chris Hilimire	6490			50.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			50.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	2" REDUCED PRESSURE ZONE	103738	890-03	Back Flow Preventers for Water/Sewer Pipe	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			25.0000	364.60000	9,115.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			25.0000	325.27000	8,131.75	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			25.0000	339.00000	8,475.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			25.0000	318.23000	7,955.75	
1982	1	Hughes Supply	Chris Hilimire	6490			25.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			25.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	3" DOUBLE CHECK	103739	890-03	Back Flow Preventers for Water/Sewer Pipe	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			2.0000	761.25000	1,522.50	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			2.0000	821.97000	1,643.94	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			2.0000	894.25000	1,788.50	
1462	1	Ferguson Waterworks	Josh Davis	2588			2.0000	838.06000	1,676.12	
1982	1	Hughes Supply	Chris Hilimire	6490			2.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			2.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	3" REDUCED PRESSURE ZONE	103740	890-03	Back Flow Preventers for Water/Sewer Pipe	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			2.0000	899.65000	1,799.30	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			2.0000	928.04000	1,856.08	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			2.0000	1010.00000	2,020.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			2.0000	946.19000	1,892.38	
1982	1	Hughes Supply	Chris Hilimire	6490			2.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			2.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	4" DOUBLE CHECK	103741	890-03	Back Flow Preventers for Water/Sewer Pipe	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			3.0000	949.60000	2,848.80	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			3.0000	1023.24000	3,069.72	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			3.0000	1113.10000	3,339.30	
1462	1	Ferguson Waterworks	Josh Davis	2588			3.0000	1043.26000	3,129.78	
1982	1	Hughes Supply	Chris Hilimire	6490			3.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			3.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	4" REDUCED PRESSURE	103742	890-03	Back Flow Preventers for Water/Sewer Pipe	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			3.0000	1184.00000	3,552.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			3.0000	1220.21000	3,660.63	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			3.0000	1327.47000	3,982.41	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1462	1	Ferguson Waterworks	Josh Davis	2588			3.0000	1244.08000	3,732.24	
1982	1	Hughes Supply	Chris Hilimire	6490			3.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			3.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	6" REDUCED PRESSURE ZONE	103743	890-03	Back Flow Preventers for Water/Sewer Pipe	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			3.0000	1949.10000	5,847.30	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			3.0000	1933.34000	5,800.02	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			3.0000	2104.00000	6,312.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			3.0000	1971.17000	5,913.51	
1982	1	Hughes Supply	Chris Hilimire	6490			3.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			3.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	8" REDUCED PRESSURE ZONE	103744	890-03	Back Flow Preventers for Water/Sewer Pipe	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			2.0000	3369.15000	6,738.30	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			2.0000	3447.48000	6,894.96	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			2.0000	3750.00000	7,500.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			2.0000	3514.94000	7,029.88	
1982	1	Hughes Supply	Chris Hilimire	6490			2.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			2.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	10" REDUCED PRESSURE ZONE	103745	890-03	Back Flow Preventers for Water/Sewer Pipe	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			2.0000	5084.00000	10,168.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			2.0000	4878.79000	9,757.58	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			2.0000	5307.00000	10,614.00	
1462	1	Ferguson Waterworks	Josh Davis	2588			2.0000	4974.26000	9,948.52	
1982	1	Hughes Supply	Chris Hilimire	6490			2.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			2.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	3/4" DOUBLE CHECK	103746	890-03	Back Flow Preventers for Water/Sewer Pipe	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			25.0000	83.00000	2,075.00	
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			25.0000	74.74000	1,868.50	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			25.0000	77.50000	1,937.50	
1462	1	Ferguson Waterworks	Josh Davis	2588			25.0000	73.12000	1,828.00	
1982	1	Hughes Supply	Chris Hilimire	6490			25.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			25.0000	NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	3/4" REDUCED PRESSURE ZONE	103747	890-03	Back Flow Preventers for Water/Sewer Pipe	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
211	1	Consolidated Pipe & Supply Co	Brandon Ledbetter	2056			25.0000	161.45000	4,036.25	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
552	1	HD Supply Waterworks Ltd	Shane Durrance	2910			25.0000	142.11000	3,552.75	
1127	1	Delta Municipal Supply Co. Inc	David Lyle	2288			25.0000	148.35000	3,708.75	
1462	1	Ferguson Waterworks	Josh Davis	2588			25.0000	139.04000	3,476.00	
1982	1	Hughes Supply	Chris Hilimire	6490			25.0000	NO BID		
2473	1	Boaen Mechanical Service, Inc.	Michele Bolton	1559			25.0000	NO BID		